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Instructions to Candidates:

Attempt all ten questions From Part A, All five Questions from Parl B and
three questions out of five questions from Part C .

Schematic diagrams must be shown wherever necessary. Any data missing may
suitably be assumed and stated clearly. Units of quantities used/calculated must
be stated clearly.

Use of following supporting m.::rer_fai is permitted during examination (As
mentioned in form No.205) ' ' -
PART - A
(Word limit 25)

1. Evahiate, A%(ax-1)(bx* ~1)(ef -1) (10x2=20)

2. Prove that, [%];mwmﬂ) ersahilkagyan.com

3. Using Newton-Raphson's memo-ci, find the root of x* —12x+7=0 which is near to
- x=2.

- P — 1if n=0
u‘./ Find the z-transform of unit impulse function which is given by 5.’{[' i n:ﬂ}

5z
Q_% Find inverse Z Transform of {2_:){31_1) :

sint I]-:lcn:}
6 FhldtheLaplacetransfunnoff(‘}={ 0 i>=

(1) [Contd....



Write the Formulae of Fourier complex transform Fourier cosine transform and
their inverse also,

u’{ Write the formulae of Simpson 1/3 rule and Simpson 3/8 rule.

10. By using Picard’s method, solve the cquation 2=y~ with x=0, =2 upto third

order of approximation.
PART - B
| (Word limit 100) |
U{ From the following table find the number of students who obtained ~ (5x4=20)

a) Less than 45 marks.

b) More than 45 marks. :

Marks obtained: 3040  40-50 50-60 60-70 70-80
No’s of students: 31 = 42 5l 35 31

\}/ Find the approximate value correct to three places of decimal of the real root of the
equation x’ _3y 44 =0, using method of false position three times in succession.

x Jor O<xsl
»3.  Find the Fourier Sine and Cosine transform of f®)=|2-x for 1<x<2
0 for x22

- 2 ;
A “(I)=1L“_'_5ﬂ for the sequence {v,},7n20 Evaluate u, and u,.

(=)’

/S/. Find Inverse Laplace transform ﬂfFf-;;T ersahilkagyan.com

PART - C .
(Any Three) (3x10=30)

1. Solve (D*+9)y=cos2r, given that y(0)=1. y(x/2)=-1.

2. Obtain Fourier transform of f ["]“{xu ';-::, Hi:}

| o~ {n‘s‘-z)sinmﬂmmsa&
Hence evaluate _[: nns{-z—][ 3 lds

3. Solve by z transform of u,,, - 6u,,, +84,=2"+6n.



: the
4~ Using Milne's Predictor-Corrector Method, obtain the value of y for x=04 for
following equation %=1¢1 -7, given that
x: .0 0.1 02 03

¥ 2 201 204 209 ey
}./Asliderinamachin:muvﬂsalnngaﬂxedstaighlmﬂ*ltsdimmx(ﬂﬁ]ﬂ‘mﬂ
rod is'given below for various values of time t(sec)

t= 0 0.1 02 03 04 05 0.6
x=>30.28 3143 13298 33.54 3397 3348 32.13
Evaluate

D - Velocity fort=0.1,0.5 and 0.3
i) Acceleration fort = .02, 33 and .58




